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IFITM3 / EEA1
= 0.284 -/+ 0.0715

IFITM3 / CD63
= 0.309 -/+ 0.0948

IFITM3 / EEA1
= 0.328 -/+ 0.0396

IFITM3 / EEA1
= 0.343 -/+ 0.0321

IFITM3 / EEA1
= 0.361 -/+ 0.0366

IFITM3 / EEA1
= 0.294 -/+ 0.0666

IFITM3 / EEA1
= 0.466 -/+ 0.0856

IFITM3 / EEA1
= 0.319 -/+ 0.0314

IFITM3 / EEA1
= 0.278 -/+ 0.0389

IFITM3 / CD63
= 0.290 -/+ 0.0701

IFITM3 / CD63
= 0.306 -/+ 0.0431

IFITM3 / CD63
= 0.258 -/+ 0.0406

IFITM3 / CD63
= 0.102 -/+ 0.0219

IFITM3 / CD63
= 0.145 -/+ 0.0274

IFITM3 / CD63
= 0.104 -/+ 0.0318

IFITM3 / CD63
= 0.128 -/+ 0.0254


